Snowman Math

Solve each system. Circle the correct answer. Then color the snowman.

1. -5x—-2y=1
—3x+y=5

‘ Top Hat

(_1r2)

Toboggan %
(11 _8)

2. "4x+2y =28

Eyelashes %

No Eyelashes

—2x+y=0 ’
Infinite Soluntions No solution
3. x—4y=-7 Round Nose Triangular Nose
—2x+8y =14 . A

Infinite Solutions

(—2, _1)

4. 3x +4y =11
x—y=-—8

Mouth with 4 dots
'...

Mouth with 3 dots

2g9
Infinite Solutions
(=3,5)
5. 4x+y =—-6 wm Striped Scarf C T} Solid Scarf
6x—y =6
% (0'6) (0, _6)
6. —x —2y =2 2 buttons on belly ° 3 buttons on belly
y=-1 ® ®
® (0-1) ° (0,1)
7.—6x —7y =-20 @ Ears No ears
—x+y=-12 (8,—4) (—4,-8)
8. x—2y=7 Glasses No glasses
2x —5y =19 OO
(=3,—-1) (=3,-5)
9.x —5y=-3 Right Hand Up Right Hand Down
—2x + 10y = -2 *

(2,1) y

No Solution

10. —6x —2y =0
3x+y=-—6

‘K Left Hand Up
(11 _3)

Left Hand Down
%No Solution
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